Week 11
Wednesday 3rd June 2020
Year 5- Problem solving
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Add More Than 4-Digits

Add More Than 4-Digits

1a. Gary and Jay are comparing their

Eamings Bonus.
Sary .49 348
say 5283 1387

1b. Jody and Lynetie are comparing their

Eamings Bonus.
sody ) 1483
Lynette 5392 Erg
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{ | must have had a larger income '
because my comings were nigher |

hanyous. 7
Who i comect? Explain why.

Youmusnave cam more money |
than me because your eamings | Q
‘were almost£1000 more,
L tymette
Who is comect? Explain why.

2. Add the mis:
fo make this addi

place value counters

1.0005

2b. Add the missing place value counters
1o make this addiion correct.

1.0005

1005

s s

3b. Phil completes this sum incorrectly.

8 4 9 1 2 2 9 6

+ 3 7 2 4 + 7 3 8 7

11 2 1 5 9 7 8 3
T 71

Explain the misiake she has made.

hig

Explain the mistake he has made.

ke
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4a. Alan and Oscar are comparing their

4b. Susie and Emma are comparing fheir
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Alan _ Sus -

bonus was almost £3,000 more fhan
Yo

Who is comect? Explain why.

{ 1 ot more money because my L/’

1 eamt more money because my \
bonus was more than double the.

L ‘amount of yours. V-
Who is comect? Explain why. e

Sa. Add the mis:
fo make this addi

place value counters
n correct.

10,000 1,000s 1005
o0

s s

5b. Add the missing place value counters
1o make this addiion correct.

100005 1,005 1005 105 1s,
ese oo
.

1.0 0 4 4 2

X

4a. Jaiden completes this sum incorrectly.
6 3 2 1 8
4 2 8 9
+3 4 7 0 3
10 2 1 1 0

Explain the misiake he has made.

6b. Tilly complefes this sum incomecly.
2 03 8 3
+.9 5 3 4 7
11 5 8 3 0

Explain the mistake she has made.
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7a. Sandy and Gabby are comparing

7b. Mike and Danny are comparing their
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sill comt £248 more fhan me.

{ Atfhough my bonus wasrigh you |

[IERT—— \/

L
Who is coect? Explai

8b. Add the missing place value counters
1o make this addifion correct.

100005 1,005 1005 105 1s,

N
£}
«
~
I

9a. Steve completes fhis sum incorrectly.

63,218 + 4,289 + 34,703 = 102,110

Explain the misiake he has made.

& .

9b. Giselle completes fhis sum incorrectly.

20,383 + 95,347 = 115,830

Explain the mistake she has made

b2





